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I.Vocabulary:20% 

Choose the most appropriate word according to the given context, and then write its 

corresponding letter on your answer sheet. 

 

1. The criminal tried to____ away the false signature, but it was clear that he was guilty. 

(A) erase (B)explain (C)escape (D)ignore 

2. The northern humanists proposed to____ mankind within the framework of the 

existing political and religious order. 

(A) recreate (B) repair (C)regenerate (D) regain 

3.  The paragraph was so wordy that he was able to____ it and express the same idea in 

half of the words. 

    (A) alternate (B)expand (C) economize (D) condense 

4.   ______, there is an element of truth in their observations. 

    (A)Unquestionably (B) Dubiously (C) Unawareness (D) in questionably 

5.  Scientists fear the avian flu that has killed 46 people in Asia could be the strain that 

will cause the next global____. 

    (A) panacea (B) pandemic (C) panorama (D) parallelism 

6.  If you____ too long, you may miss a wonderful opportunity. 

    (A) suspect (B)hurry (C)hesitate (D) loiter 

7.  Misleading advertising may____ the public. 

    (A) investigate (B)shield (C)inform (D)deceive 

8.  Oil and natural gas exist on this planet in a limited supply. Therefore, it is essential for 

us to develop____ to these nonrenewable energy sources. 

    (A) illuminate (B)additives (C)artifacts ) (D)alternatives 

9.  Mary hoped to get rich by____ in the stock market. 

    (A) investing (B)inspecting (C) insinuating (D) calculating 

10. It is the policy of the United States to seek and support the growth of____ movements 

in every nation and culture. 

    (A) deductible (B) dermatology (C)democratic (D) dominat 

II. Grammar.20% 

A. Questions 1-5 are incomplete sentences. Four phrases or clauses, marked (A), (B), 

(C), and (D), are given beneath each sentence. Choose the best answer and the 



write it s corresponding letter on your answer sheet. 

1. How long has the letter been____ there on the desk? 

(A) lain (B) lied (C) laid (D) lying 

2. Documentary evidence of the economic damage____ has only recently become 

available.  

(A) was caused by these animals (B) these animals cause it (C) caused by these 

animals (D) causing these animals 

3. Tom,_____ , suggested stopping at the next station. 

(A) that had been driving all day (B) which had driving all day (C) whom had been 

driving all day (D) who had been driving all day 

 4. A good family often helps its members grow ____ . 

     (A) to be both friendly and cheerful (B) to be both friendly and cheerfully (C) to be 

both friendly and cheerful (D) to be both friendly and cheerful persons 

 5. Mount Everest is ____ in the world. 

(A) taller than any mountain (B) taller than any other mountain (C) taller than any 

mountains (D) taller than any another mountains  

 B. In questions 6-10, each sentence has four underlined words or phrases marked 

(A),(B),(C),and(D). You are to identify the one that should be corrected and then write its 

corresponding letter on your answer sheet. 

 

 6. The old man, broke and had no friends to turn to, simply disappeared from the  

       A       B      C             D   

neighborhood.     

 7. The differences in American English and British English are not as great as the  

                A                                B     C    

differences among Chinese dialects. 

           D 

 8. The firm conviction that a most or less durable state of happiness is waiting out there  

                       A              B                    C 

for each of us to seize , and then chase after , is perhaps distinctly America . 

                              D 

 9. One promised approach is to study sex differences as they develop , rather than merely  

           A                                  B               C 

focusing on aptitude-test score . 

                  D          

10. Steel prices have shot up recent amid supply problems, high raw material prices and  

       A                  B                                                  

 



roaring demand from China＇s fast growing industry and infrastructure projects . 

     C                                              D 

III. Cloze Test: 20% 

In the following two passages, there are ten blanks where words or phrases are left ort. For 

each blank, there are four choices marked (A), (B), (C), and (D). One ho the choices best 

fits the blanks. Chose the best answer and write its corresponding letter on the answer 

sheet. 

There    1__ some things we do in life that seem to have small rewards, and    2       

after a great deal of hard work    3   still those things are worth   4   . Acting in a 

play is an example that comes to mind. It＇s at     5   95 percent hard works, and the 

audience＇s appreciation comes for only a few seconds at the end of a performance, but 

the satisfaction is beyond    6   . 

1. (A) to be (B) is (C) was (D) are 

2. (A)rarely (B) barely (C) seldom (D) s  

3. (A) bur (B) unless (C) or (D) so 

4. (A) that (B) this (C) it (D) them 

5. (A) best (B) most (C) least (D) worst 

6. (A) description (B) descriptions (C) a description (D) that description 

       In reference   7   language, competence is one＇s underlying knowledge of the 

system of a langrage- its rules of grammar, its vocabulary,  8   the pieces of a language 

and   9   those pieces fit together. Performance is actual production or the 

comprehension of linguistic events. Chomsky likened competence to an 

“idealized＂speraker-hearer    10  not display such performance variables as memory 

limitations, distractions, shifts of attention and interest, errors, and hesitation phenomena. 

7. (A) in (B) to (C) on (D) over 

8. (A) every (B) each (C) all (D) both  

9. (A) what (B) each (C)which (D)how 

10. (A) who does (B) which does (C) that do (D) whose did 

 IV. Translation: 10% 

 Please translate the following two passages into Chinese on the answer sheet. 

 

1. The 21st century, I believe, can be best summed up in a word, that is not globalization, 

because globalization has for most people been an economic meaning. I believe a better 

word is interdependence. For interdependence can be good or bad; or it can be good 

and bad. It simply means we can not escape each other. 

2. We train our children to define and distinguish themselves from their peers, to be 

self-reliant and autonomous. Indeed, from a very early age, selfhood and independence 

are stressed. Children learn they must stand on their own two feet in a competitive 



world where self-reliance and self-realization are the name of the game. 

V. Composition: 30% 

Write and English composition in about 300 words. Your composition must contain an 

introductory paragraph, one or two discussion paragraphs, and a concluding paragraph. The 

twentieth century saw great change. In your opinion, what is one change that should be 

remembered about the twentieth century? Use specific reasons and details to explain your 

choice  

 

 

 

 

   

         

  

    

  

 

 

 

  

 

 

 


